
SURA PUBLICATIONS
Chennai

12th Std

Complete solutions to Textbook Exercises.

Model Question Papers 1 to 6 (PTA) : Questions are incorporated in the 
appropriate sections.

Govt. Model Question Paper-2019, Quarterly Exam - 2019, and Half yearly  
Exam - 2019 questions  are incorporated in the appropriate sections.
Sura’s Model question paper with answers are given based on the reduced 
syllabus. 

Salient Features

Business Mathematics 
and Statistics

�PUBLIC

eXAM

Edition 2021-22

Strictly as per the Reduced (Prioritised) Syllabus

released on 13th August, 2021 (G.O.(Ms).No126)

This is Only for Sample For Full Book Order Online or Available at All Leading Bookstores

orders@surabooks.com Ph:9600175757 / 8124201000

www.su
ra

bo
ok

s.c
om



ii

2021-22 Edition

All rights reserved © SURA Publications.
No part of this book may be reproduced, stored in a retrieval system, or transmitted in any form or 

by any means, digitally, electronically, mechanically, photocopying, recorded or otherwise, without the 
written permission of the publishers. Strict action will be taken.

Authors :
Mr. A.Ganesa Moorthy M.Sc., M.Ed., M.phil.

Chennai

Edited by :
Mr. S. Sathish M.Sc., M.Phil.

Reviewed by :
Mr. S. Niranjan, B.Tech., M.B.A(IIM)

Chennai

Head Office:
1620, ‘J’ Block, 16th Main Road, 
Anna Nagar, Chennai - 600 040.

Phones: 044-4862 9977, 044-486 27755.  
Mob : 81242 01000/ 81243 01000 
e-mail : orders @surabooks.com
website : www.surabooks.com

ISBN : 978-93-5330-419-5
Code No : RPS_016

For More Information - Contact
	 Doubts in Our Guides	 :	 enquiry@surabooks.com 
	 For Order	 :	 orders@surabooks.com
	 Contact	:	 80562 94222 / 80562 15222
	 Whatsapp	:	 8124201000 / 9840926027
	 Online Site	 :	 www.surabooks.com

For Free Study Materials Visit http://tnkalvi.in

This is Only for Sample For Full Book Order Online or Available at All Leading Bookstores

orders@surabooks.com Ph:9600175757 / 8124201000

www.su
ra

bo
ok

s.c
om



iii

Strictly as per the Reduced (Prioritised) Syllabus released on 13th August, 2021 (G.O.(Ms).No126)

12th Std Business Mathematics and Statistics

Contents
1.	 Applications of Matrices and Determinants
1.1	 Rank of a Matrix
1.1.1	 Concept
1.1.2	 Elementary Transformations and Equivalent matrices
1.1.3	 Echelon form and finding the rank of the matrix (up to 

the order of 3 × 4)
1.1.4	 Testing the consistency of non - homogeneous linear 

equations (two and three variables) by rank method.
1.3	 Transition Probability Matrices
1.3.1	 Forecasting the succeeding state when the initial market 

share is given
2.	 Integral Calculus - I
2.1	 Indefinite Integrals
2.1.1	 Concept of Indefinite Integral
2.1.2	 Two important properties of Integral Calculus
2.1.3	 Integration by decomposition
2.1.4	 Integration by parts
2.2 	 Definite integrals
2.2.1	 The fundamental theorems of Integral Calculus
2.2.2	 Properties of definite integrals

3.	 Integral Calculus - II
3.1	 The area of the region bounded by the curves
3.1.1	 Geometrical Interpretation of Definite Integral as Area 

under a curve
3.2	 Application of Integration in Economics and Commerce.
3.2.1	 Cost functions from marginal cost functions
3.2.2	 Revenue functions from Marginal revenue functions
3.2.3	 The demand functions from elasticity of demand
3.2.4	 Consumer’s surplus
3.2.5	 Producer surplus
4.	 Differential Equations
4.1	 Formation of ordinary differential Equations
4.1.1	 Definition of ordinary differential equation
4.1.2	 Order and degree of a differential equation
4.1.3	 Formation of ordinary differential equation
4.2	 First order and first degree differential equations
4.2.1	 General solution and particular solution
4.2.2	 Differential Equation in which variables are separable
4.2.3	 Homogeneous Differential Equations
5.	 Numerical Methods
5.1	 Finite Differences
5.1.1	 Forward Difference Operator, Backward Difference 

Operator and Shifting Operator
5.1.2	 Finding the missing terms
5.2	 Interpolation
5.2.1	 Methods of interpolation
5.2.2	 Graphical method
5.2.3	 Algebraic method

6.	 Random Variable and Mathematical Expectation
6.1.	 Random variable
6.1.1	 Definition of a random variable
6.1.2	 Discrete random variable
6.1.3	 Continuous random variable
6.2.	 Mathematical Expectation
6.2.1	 Expected value and Variance
6.2.2	 Properties of Mathematical expectation
7.	 Probability Distributions
7.1	 Distribution
7.1.1	 Binomial distribution
7.1.2	 Poisson Distribution
8.	 Sampling Techniques and Statistical Inference
8.1	 Sampling
8.1.1	 Basic concepts of sampling
8.1.2	 Sampling and Non-Sampling Errors:
8.1.3	 Sampling distribution
8.1.4	 Computing standard error in simple cases
8.2	 Estimation:
8.2.1	 Point and Interval Estimation
9.	 Applied Statistics
9.1	 Time Series Analysis
9.1.1	 Meaning, Uses and Basic Components
9.1.2	 Measurements of Trends
9.1.3	 Method of Moving Averages
9.1.4	 Method of Least Squares
9.1.5	 Methods of measuring Seasonal Variations By Simple 

Averages
9.2	 Index Number
9.2.1	 Meaning, Classifications and Uses
9.2.2	 Weighted Index Number
9.2.3	 Test of adequacy for an Index Number
9.2.4	 Construction of Cost of Living Index Number
10.	 Operations Research
10.1	 Transportation Problem
10.1.1	 Definition and formulation
10.1.2	 Methods of finding initial Basic Feasible Solutions
10. 3	 Decision Theory
10.3.1	 Meaning
10.3.2	 Situations- Certainty and uncertainty
10.3.3	 Maximin and Minimax Strategy

This is Only for Sample For Full Book Order Online or Available at All Leading Bookstores

orders@surabooks.com Ph:9600175757 / 8124201000

www.su
ra

bo
ok

s.c
om



iv

Contents

1.	 Applications of Matrices and Determinants ������������������������������������������������������������1 – 22

2.	 Integral Calculus - I��������������������������  ................................................................... 23 – 47

3.	 Integral Calculus - II ������������������������..................................................................... 48 – 77

4.	 Differential Equations ���������������������������������������.................................................... 78 – 99

5.	 Numerical Methods ������������������������������������������ ................................................. 100 – 118

6.	 Random Variable and Mathematical Expectation������������������������  ..................... 119 – 138

7.	 Probability Distributions �������������������������.......................................................... 139 – 158

8.	 Sampling Techniques and Statistical Inference ����������������������.......................... 159 – 172

9.	 Applied Statistics�������������������������� .................................................................... 173 – 194

10.	 Operations Research .��������������������������.............................................................. 195 – 218

	 Sura’s Model Question Paper with answers are given based on 
	 Reduced Syllabus����������������������������������������������������������������������������������������������� 219 – 234

This is Only for Sample For Full Book Order Online or Available at All Leading Bookstores

orders@surabooks.com Ph:9600175757 / 8124201000

www.su
ra

bo
ok

s.c
om



v

TO ORDER WITH US

SCHOOLS and TEACHERS

We are grateful for your support and patronage to ‘SURA PUBLICATIONS’

Kindly prepare your order in your School letterhead and send it to us. 

For Orders contact: 80562 94222 / 80562 15222

DIRECT DEPOSIT

A/c Name	 :	Sura Publications
Our A/c No.	 :	36550290536
Bank Name	 :	 STATE BANK OF INDIA
Bank Branch	 :	 PADI
IFSC	 :	 SBIN0005083

A/c Name	 :	 Sura Publications
Our A/c No.	 :	 21000210001240 
Bank Name	 :	 UCO BANK
Bank Branch	 :	 Anna Nagar West
IFSC	 :	 UCBA0002100

A/c Name	 :	Sura Publications
Our A/c No.	 :	6502699356
Bank Name	 :	 INDIAN BANK
Bank Branch	 :	 ASIAD COLONY
IFSC	 :	 IDIB000A098

A/c Name	 :	 Sura Publications
Our A/c No.	 :	 1154135000017684
Bank Name	 :	 KVB BANK
Bank Branch	 :	 Anna Nagar
IFSC	 :	 KVBL0001154

After Deposit, please send challan and order to our address.
email : orders@surabooks.com / Whatsapp : 81242 01000.

DEMAND DRAFT / CHEQUE

Please send Demand Draft / cheque in favour of  ‘SURA PUBLICATIONS’ 
payable at Chennai.  

The Demand Draft / cheque should be sent with your order in School letterhead.

STUDENTS

Order via Money Order (M/O) to

Sura Publications
1620, ‘J’ Block, 16th Main Road, Anna Nagar,

Chennai - 600 040.
Phones : 044-48629977, 48627755.

Mobile : 80562 94222/ 80562 15222.
email : orders@surabooks.com    Website : www.surabooks.com

This is Only for Sample For Full Book Order Online or Available at All Leading Bookstores

orders@surabooks.com Ph:9600175757 / 8124201000

www.su
ra

bo
ok

s.c
om



vi

This is Only for Sample For Full Book Order Online or Available at All Leading Bookstores

orders@surabooks.com Ph:9600175757 / 8124201000

www.su
ra

bo
ok

s.c
om



1

Rank of a matrix :-

        The rank of a matrix A is the order of the largest non-zero minor of A and is denoted by ρ (A).
(i)	 ρ (A) ≥ 0.
(ii)	 If A is a matrix of order m × n, then ρ (A) ≤ min {m, n}.
(iii)	Rank of a zero matrix is 0.
(iv)	 The rank of a non - singular matrix of order n × n is “n”.
Elementary transformations :
(i)	 Interchange any two rows (or columns)

		  Ri ↔ Rj (Ci ↔ Cj)
(ii)	 Multiplication of each element of a row (or column) by any non-zero scalar k.

		  Ri → k Ri (or Ci → k Ci)
(iii)	Addition to the elements of any row (or column) the same scalar multiples of corresponding  

elements of any other row (or column).

		  Ri → Ri + k Rj (or Ci → Ci + k Ci)
Equivalent matrices:

	� Two matrices A and B are said to be equivalent if one is obtained from the another by applying a 
finite number of elementary transformations.

	 A ¿ b

Echelon form : 

	 A matrix A of order m × n is said to be in echelon form if
(i)	 Every row of  A which has all its entries 0 occurs below every row which has a non - zero entry.
(ii)	 The number of zeros before the first non - zero element in a row is less than the number of such 

zeros in the next row.

 Transition matrix :

	 The transition probabilities Pjk satisfy Pjk > 0, S
k

 Pjk = 1 for all j

Applications of 
Matrices and  
determinants

1
Chapter

CHAPTER SNAPSHOT
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 Sura’s ➠ XII Std ➠ Business Mathematics and Statistics  2

FORMULAE TO REMEMBER

TEXTUAL QUESTIONS
EXERCISE 1.1

1.	 Find the rank of each of the following matrices.

(i)	 5 6
7 8









	 (ii)	 1 1

3 6
−
−











(iii)	 1 4
2 8









	 (iv)	

2 1 1
3 1 5
1 1 1

−
−













(v)	
− −

−
− −













1 2 2
4 3 4
2 4 4

	 (vi)	
1 2 1 3
2 4 1 2
3 6 3 7

−
−
−













(vii)	
3 1 5 1
1 2 1 5
1 5 7 2

− −
− −

−













	 (viii)	
1 2 3 4
2 4 1 3
1 2 7 6

−
− − −
−













Sol :	(i)	 Let A	 =	 5 6

7 8











Order of A is 2 × 2

∴ ρ (A) ≤ 2 [Since minimum of (2, 2) is 2]

Consider the second order minor,
	

5 6

7 8
	 = 	 40 – 42

		  = 	 –2 ≠  0.

There is a minor of order 2, which is not zero 

	 ∴ ρ (A)	 =	 2

1.	� Linear equations can be written in matrix 
form AX = B, then the solution is X = A–1 B,  
	 provided |A| ≠ 0.

2.	� Consistency of non homogeneous linear 
equations by rank method.

(i)	 If ρ A,B[ ]( )  = ρ(A), then the equations are 
consistent.

(ii)		  Let A	 =	
1 1

3 6

−
−











	 Order of A is 2 × 2

	 ∴ ρ (A) ≤ 2 [Since minimum of (2, 2) is 2]
	 Consider the second order minor,
		  1 1

3 6

-
-

	 =	 – 6 – (–3)
			   =	 – 6 + 3
			   = 	–3 ≠  0.
	 There is a minor of order 2, which is not zero

		  ∴ ρ (A)	 =	 2.

(iii)	 Let A	 =	 1 4

2 8










� [QY-2019]

	 Order of A is 2 × 2 [Since minimum of (2,2) is 2]

	 Consider the second order minor 1 4

2 8

			   =	 8 – 8

			   =	 0.

	 Since the second order minor vanishes, ρ(A) ≠ 2

	 Consider a first order minor |1| ≠ 0	

	  There is a minor of order 1, which is not zero

		  ∴ ρ(A)	 =	 1.

(ii)	 If  ρ A,B[ ]( )  = ρ(A) = n, where n is the 
number of variables then the equations are 
consistent and have unique solution.

(iii)	If ρ A,B[ ]( )  = ρ(A) < n, then the equations 
are consistent and have infinitely many 
solutions.

(iv)	 If ρ A,B[ ]( )  ≠ ρ(A), then the equations are 
inconsistent and has no solution.
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3 Sura’s ➠ XII Std - Unit 1 ➠ Applications of Matrices and  determinants

(iv)		  Let A	 =	
2 1 1

3 1 5

1 1 1

−
−












� [PTA - 1]

The order of A is 3 × 3
∴ ρ(A) ≤ 3 [Since minimum of (3, 3) is 3]
Let us transform the matrix A to an echelon form

Matrix A Elementary 
Transformation

A = 
2 1 1

3 1 5

1 1 1

−
−













~ 

1 1 1

3 1 5

2 1 1

−
−













R1 ↔ R3

~ 

1 1 1

0 2 8

0 3 1

− −
− −













R2 → R2 – 3R1
R3 → R3 – 2R1

~ 

1 1 1

0 1 4

0 3 1

− −
− −












R2 → R2 ¸ 2

~ 
1 1 1

0 1 4

0 0 11

− −












R3 → R3 – 3R2

�This matrix is in echelon from and number of non-
zero rows is 3.
	 ∴ ρ(A)	 =	 3.

(v)	 	 Let A	 =	

− −
−

− −













1 2 2

4 3 4

2 4 4

	The order of A is 3 × 3
	∴ ρ(A) ≤ 3 [Since minimum of (3, 3) is 3]
	Let us transform the matrix to an echelon form.

Matrix A Elementary 
Transformation

A = 

− −
−

− −













1 2 2

4 3 4

2 4 4

~ 

1 2 2

4 3 4

2 4 4

−
−

− −












R1 → R1 (–1)

Matrix A Elementary 
Transformation

~ 

1 2 2

0 5 4

2 4 4

−
−

− −












R2 → R2 – 4R1

~ 

1 2 2

0 5 4

0 0 0

−
−












R3 → R3 + 2R1

	� The matrix is in echelon form and the number 
of non-zero rows is 2.

	 ∴ ρ(A)	 =	 2.

(vi)		  Let A	 =	
1 2 1 3

2 4 1 2

3 6 3 7

−
−
−












	The order of A is 3 × 4
	∴ ρ(A) ≤ 3 [Since minimum of (3, 3) is 3]
	Let us transform the matrix to an echelon form.

Matrix A Elementary 
Transformation

A = 
1 2 1 3

2 4 1 2

3 6 3 7

−
−
−













~ 
1 2 1 3

0 0 3 8

3 6 3 7

−
−
−













R2 → R2 – 2R1

~ 

1 2 1 3

0 0 3 8

0 0 6 16

−
−
−












R3 → R3 – 3R1 

~ 

1 2 1 3

0 0 3 18

0 0 0 0

−
−












R3 → R3 – 2R2

The matrix is in echelon form and the number of 
non- zero rows is 2.
	 ∴ ρ(A)	 =	 2.

(vii)		  A	 =	
3 1 5 1

1 2 1 5

1 5 7 2

− −
− −

−












The order of A is 3 × 4
∴ ρ(A) ≤ 3 [Since minimum of (3, 4) is 3]
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 Sura’s ➠ XII Std ➠ Business Mathematics and Statistics  4

Let us transform the matrix A to an echelon form.

Matrix A Elementary 
Transformation

A = 
3 1 5 1

1 2 1 5

1 5 7 2

− −
− −

−













~ 
1 5 7 2

1 2 1 5

3 1 5 1

−
− −

− −













R1 ↔ R3

~ 
1 5 7 2

0 7 8 7

3 1 5 1

−
− −

− −













R2 → R2 – R1

~ 
1 5 7 2

0 7 8 7

0 14 16 7

−
− −
− −












R3 → R3 – 3R1

~ 
1 5 7 2

0 7 8 7

0 0 0 7

−
− −












R3 → R3 – 2R2

The matrix is in echelon form and the number of 
non-zero matrix is 3.
	 ∴ ρ(A)	 =	 3.

(viii)		 A	 =	

1 2 3 4

2 4 1 3

1 2 7 6

−
− − −
−












The order of A is 3 × 4
∴ ρ(A) ≤ minimum of (3, 4) ⇒ ρ(A) ≤ 3
	Let us transform the matrix A to an echelon form.

Matrix A Elementary 
Transformation

A = 
1 2 3 4

2 4 1 3

1 2 7 6

−
− − −
−













~ 
1 2 3 4

0 0 5 5

1 2 7 6

−

−












R2 → R2 + 2R1

~ 
1 2 3 4

0 0 5 5

0 0 10 10

−










R3 → R3 + R1

~ 
1 2 3 4

0 0 5 5

0 0 0 0

−










R3 → R3 – 2R2

The matrix is in echelon form and the number of 
non- zero rows is 2.
	 ∴ ρ(A)	 =	 2.

2.	 If A= 
1 1 1
2 3 4
3 2 3

−
−
−












 and B = 

1 2 3
2 4 6

5 1 1

−
− −

−












 , 

then find the rank of AB and the rank of BA.
Sol :	

Given A = 
1 1 1

2 3 4

3 2 3

−
−
−












 and B = 

1 2 3

2 4 6

5 1 1

−
− −

−













	AB = 
1 1 1

2 3 4

3 2 3

−
−
−












 

1 2 3

2 4 6

5 1 1

−
− −

−













		 = 
1 2 5 2 4 1 3 6 1

2 6 20 4 12 4 6 18 4

3 4 15 6 8 3 9 12 3

− − − + − − +
+ + − − + + −
+ + − − + + −













AB = 
− −

−
−













6 1 2

28 12 20

22 11 18

 

Matrix (AB) Elementary 
Transformation

AB = 
− −

−
−













6 1 2

28 12 20

22 11 18

~ 
1 6 2

12 28 20

11 22 18

− −
−
−












C1 ↔ C2

~ 
1 6 2

0 44 4

11 22 18

− −
− −

−













R2 → R2 + 12R1

~ 
1 6 2

0 44 4

0 44 4

− −
− −
− −












R3 → R3 + 11R1

~ 
1 6 2

0 44 4

0 0 0

− −
− −













	 R3 → R3 – R2

The matrix is in echelon form and the number of 
non-zero rows is 2.
	 ∴ ρ(AB)	 =	 2.

Now, BA = 	
1 2 3

2 4 6

5 1 1

1 1 1

2 3 4

3 2 3

−
− −

−













−
−
−












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5 Sura’s ➠ XII Std - Unit 1 ➠ Applications of Matrices and  determinants

= 
1 4 9 1 6 6 1 8 9

2 8 18 2 12 12 2 16 18

5 2 3 5 3 2 5 4 3

− + + − − − +
− + − − − + + −
+ − − + − + −













		  =	
6 1 0

12 2 0

4 4 4

− −
−













Matrix (BA) Elementary 
Transformation

BA = 
6 1 0

12 2 0

4 4 4

− −
−













~ 

1 6 0

2 12 0

4 4 4

− −
−












C1 ↔ C2

~ 
1 6 0

0 0 0

4 4 4−












R2 → R2 + 2R1

~ 

1 6 0

0 0 0

0 20 4− −












R3 → R3 – 4R1

The number of non-zero rows is 2.
	 ∴ ρ(BA)	 =	 2.

3.	 Solve the following system of equations by 
rank method x + y + z = 9, 2x + 5y + 7z = 52,  
2x –y – z = 0

Sol :	The given equations are x + y + z = 9,  
2x + 5y + 7z = 52, 2x –y – z = 0

The matrix equation corresponding to the given 
system is

	
1 1 1

2 5 7

2 1 1−

























x
y
z

	 =	
9

52

0












	 A 	 X	 =	 B

Augmented matrix 
[AB]

Elementary 
Transformation

 
1 1 1 9

2 5 7 52

2 1 1 0−













~ 
1 1 1 9

0 3 5 34

0 1 3 18− − −













R2 → R2 – 2R1
R3 → R3 – 2R1

~ 
1 1 1 9

0 3 5 34

0 0 4 20− −












R3 → 3R3+ R2

    ~ 
1 1 1

0 3 5

0 0 4−












⇒ P (A) = 3 

Since augmented matrix [A, B] ~ 
1 1 1 9

0 3 5 34

0 0 4 20− −












 

has three non-zero rows, ρ([A,B]) = 3.
�That is, ρ(A) = ρ([A,B]) = 3 = number of unknowns.
�So the given system is consistent and has unique 
solution.
To find the solution, we rewrite the echelon form into 
the matrix form.

	
1 1 1

0 3 5

0 0 4−

























x
y
z

	 =	
9

34

20−













⇒	 x + y + z	 =	 9� ... (1)
	 3y + 5z	 =	 34� ...(2)
	 –4z	 =	 –20� ...(3)
(3) ⇒	 –4z	 =	 –20
	 z	 =	

-
-

20

4
 = 5

 (2) ⇒	 3y + 5 (5)	 =	 34
⇒	 3y + 25	 =	 34 ⇒ 3y =  34 – 25
⇒	 3y	 =	 9    ⇒  y =  

9

3
 

	 y	 =	 3.
 (1) ⇒	 x + 3 + 5	 =	 9
⇒	 x + 8	 =	 9   ⇒ x =  9 – 8 ⇒ x =  1
∴ x = 1,  y = 3, z = 5 is the unique solution of the 
given equations.

4.	 Show that the equations 5x + 3y + 7z = 4,  
3x + 26y + 2z = 9, 7x + 2y + 10z = 5 are 
consistent and solve them by rank method.

Sol :	Given non-homogeneous equations are
	 5x + 3y + 7z	 =	 4
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 Sura’s ➠ XII Std ➠ Business Mathematics and Statistics  6

	 3x + 26y + 2z	 =	 9
	 7x + 2y + 10z	 =	 5
The matrix equation corresponding to the given 
system is

	
5 3 7

3 26 2

7 2 10

























x
y
z

	 =	
4

9

5













	 A 	 X	 =	 B

Augmented matrix [A, B] = 
5 3 7 4

3 26 2 9

7 2 10 5













Augmented matrix 
[A, B]

Elementary 
Transformation

5 3 7 4

3 26 2 9

7 2 10 5













~ 
3 26 2 9

5 3 7 4

7 2 10 5












R1 ↔ R2

~ 
1

26

3

2

3
3

5 3 7 4

7 2 10 5













R1 → R1 ¸ 3

~ 
1

26

3

2

3
3

0
121

3

11

3
11

7 2 10 5

−
−













R2 → R2 – 5R1 

~ 

1
26

3

2

3
3

0
121

3

11

3
11

0
176

3

16

3
16

−
−

−
−













R3 → R3 – 7R1

~ 

1
26

3

2

3
3

0
11

3

1

3
1

0
11

3

1

3
1

−
−

−
−













R2 → R2 ¸ 11
R3 → R3 ¸ 16

~ 
1

26

3

2

3
3

0
11

3

1

3
1

0 0 0 0

−
−













R3 → R3 - R2

Here ρ(A) = ρ(A, B) =	2 < Number of unknowns.
∴ The system is consistent with infinitely many 
solutions let us rewrite the above echelon form 
into matrix form.

	
1

26

3

2

3

0
11

3

1

3

0 0 0

−



















x
y
z







	 =	
3

1

0

−













	 x + 
26

3
 y + 

2

3
 z	 =	 3� ... (1)

	
-11

3
y + 

1

3
 z	 =	 – 1� ...(2)

let z = k; 	where k ∈ R

(2) ⇒	
-11

3
y + 

k
3

	 =	 –1 

⇒	  
-11

3
y	 =	 –1 – 

k
3

 = 
- -3

3
k

⇒	 –11y	 =	 –3 – k 	
⇒	 11y	 =	 3 + k

⇒	 y	 =	
1
11

 (3 + k)

Substituting y	 =	
1
11

(3 + k) and z = k in (1) we 
get,

	x + 
26

3
 3

11

+







k  + 
2

3
 k = 3

	 x	 =	 – 
26

3
 3

11

+







k  – 
2

3

k
 + 3

= - -78 26

33

k  – 
2

3

k
 + 3 =  − − − +78 26 22 99

33

k k  

= 
21 48

33

- k
 = 

3 7 16

33

( - k)
 

x =
1
11

 (7 – 16k)

∴ Solution set is {
1
11

 (7 – 16k), 
1
11

 (3 + k), k} k ∈ R. 

Hence, for different values of k, we get infinitely 
many solutions.

5.	 Show that the following system of equations 
have unique solution: x + y + z = 3, x + 2y + 3z 
= 4, x + 4y + 9z = 6 by rank method.�[QY-2019]

Sol :	Given non-homogeneous equations are
	 x + y + z	 =	 3
	 x + 2y + 3z	 =	 4
	 x + 4y + 9z	 =	 6
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7 Sura’s ➠ XII Std - Unit 1 ➠ Applications of Matrices and  determinants

The matrix equation corresponding to the given 
system is

	
1 1 1

1 2 3

1 4 9

























x
y
z

	 =	
3

4

6













	 A 	 X	 =	 B
Augmented matrix 

[A, B]
Elementary 

Transformation

1 1 1 3

1 2 3 4

1 4 9 6













~ 

1 1 1 3

0 1 2 1

0 3 8 3













R2 → R2 – R1
R3 → R3 – R1

~ 

1 1 1 3

0 1 2 1

0 0 2 0












R3 → R3 – 3R2

Clearly the last equivalent matrix is in echelon 
form and it has three non-zero rows.
∴ ρ(A) = 3 and ρ([A, B]) = 3
⇒	ρ(A) = ρ([A, B])	=	 3 = Number of unknowns.
∴ The given system is consistent and has unique 
solution.
To find the solution, let us rewrite the above 
echelon form into the matrix form.

	
1 1 1

0 1 2

0 0 2

























x
y
z

	 =	
3

1

0













⇒ 	 x + y + z	 =	 3� ... (1)
	 y + 2z	 =	 1� ... (2)
	 2z	 =	 0� ... (3)

(3) ⇒ 2z = 0 ⇒	z	 =	
0

2
 = 0

(2) ⇒ y + 2(0) = 1 ⇒ y + 0 = 1 ⇒ y = 1 – 0 = 1
(1) ⇒	 x + 1 + 0	 =	 3
⇒	 x + 1	 =	 3
⇒	 x	 =	 3 – 1
⇒	 x	 =	 2
∴ Solution is {2, 1, 0}

6.	 For what values of the parameter λ, will 
the following equations fail to have unique 
solution: 3x– y + λz = 1, 2x + y + z = 2,  
x + 2y – λz = –1 by rank method.

Sol :	Given non-homogeneous equations are
	 3x– y + λz	 =	 1
	 2x + y + z	 =	 2
	 x + 2y – λz	 =	 –1
The matrix equation corresponding to the given 
system is

3 1

2 1 1

1 2

−

−





























λ

λ

x
y
z

	 =	
1

2

1−















	 A 	 X	 =	 B

Augmented matrix 
[A, B]

Elementary 
Transformation

3 1 1

2 1 1 2

1 2 1

−

− −















λ

λ

~ 

1 2 1

2 1 1 2

3 1 1

− −

−















λ

λ
R1 ↔ R3

~ 

1 2 1

0 3 1 2 4

3 1 1

− −
− +
−















λ
λ

λ

R2 → R2 – 2R1

~ 
1 2 1

0 3 1 2 4

0 7 4 4

− −
− +
−















λ
λ

λ

R3 → R3 – 3R1

~ 

1 2 1

0 1
1 2

3

4

3

0 1
4

7

4

7

− −

− +

−























λ
λ

λ

R2 → R2 ¸ 3
R3 → R3 ¸ 7

~ 

1 2 1

0 1
1 2

3

4

3

0 0
7 2

21

16

21

− −

− +

− − −























λ
λ

λ

R3 → R3 – R2
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�

Since
	 4

7

1 2

3

λ λ− +

	 = 
12 7 14

21

λ λ− −
	 =	

− −7 2

21

λ

	 and 
4

7

4

3
− 	 =	

12 28

21

−

		  =	
−16

21 	

Since the system is fail to have unique solution 
either it can have infinitely many solution or it 
may be inconsistent.
∴	This can happen only when 

− −7 2

21

λ
 = 0.

⇒ 	 –7 –2λ	 =	 0  

⇒    	  – 7 	 =	 2λ 

⇒   	   λ	 =	
−7

2
.

7.	 The price of three commodities X,Y and Z are 
x,y and z respectively Mr. Anand Purchases  
6 units of Z and sells 2 units of X and 3 units of 
Y. Mr. Amar Purchases a unit of Y and sells 3 
units of X and 2units of Z. Mr. Amit Purchases 
a unit of X and sells 3 units of Y and a unit of 
Z. In the process they earn ` 5,000/-, ` 2,000/- 
and ` 5,500/- respectively Find the prices per 
unit of three commodities by rank method.
� [PTA-5]

Sol :	Given that the price of commodities X, Y and Z 
are x, y and z respectively.
By the given data,
Transaction x y z Earning
Mr. Anand +2 +3 –6 Rs. 5000
Mr. Amar +3 –1 +2 Rs. 2000
Mr. Amit –1 +3 +1 Rs. 5500

Here, purchasing is taken as negative symbol and 
selling is taken as positive symbol.

Thus, the non-homogeneous equations are

	 2x + 3y – 6z	 =	 5000

	 3x – y + 2z	 =	 2000

	 –x + 3y + z	 =	 5500

The matrix equation corresponding to the given 
system is

2 3 6

3 1 2

1 3 1

−
−

−





























x
y
z

	 =	

5000

2000

5500















	 A 	 X	 =	 B
Augmented matrix 

[A, B]
Elementary 

Transformation

2 3 6 5 000

3 1 2 2 000

1 3 1 5 500

-
-

-

æ

è

ç
ç
ç

ö

ø

÷
÷
÷

,

,

,

~ 

−
−

−















1 3 1 5500

3 1 2 2000

2 3 6 5000

R1 ↔ R3

~ 

-

-

æ

è

ç
ç
ç

ö

ø

÷
÷
÷

1 3 1 5500

0 8 5 18500

0 9 4 16000

R2 → R2 + 3R1
R3 → R3 + 2R1

~ 

-

-

æ

è

ç
ç
ç

ö

ø

÷
÷
÷

1 3 1 5500

0 72 45 166500

0 72 32 128000

R2 → 9R2
R3 → 8R3 

~ 
-

- -

æ

è

ç
ç
ç

ö

ø

÷
÷
÷

1 3 1 5500

0 72 45 166500

0 0 77 38500

R3 → R3 – R2

ρ(A) = ρ([A, B]) = 3 = number of unknowns  
so the system has unique solution.
∴The given system is equivalent to the matrix 
equation.

	
-

-

æ

è

ç
ç
ç

ö

ø

÷
÷
÷

æ

è

ç
ç
ç

ö

ø

÷
÷
÷

1 3 1

0 72 45

0 0 77

x
y
z

	 =	
5500

166500

38500-

æ

è

ç
ç
ç

ö

ø

÷
÷
÷

 	 – x + 3y – z	 =	 5500� ... (1)
	 72y + 45z	 =	 166500� ... (2)
	 –77z	 =	 –38500� ... (3)
(3) ⇒	 –77z	 =	 –38500

⇒	 z	 =	
-

-
38500

77
 = 500

(2) ⇒	 72y + 45 (500)	 =	 166500
⇒	 72y + 22,500	 =	 166500
⇒	 72y 	 =	 166500 – 22500
⇒	 72y 	 =	 144000

This is Only for Sample For Full Book Order Online or Available at All Leading Bookstores

orders@surabooks.com Ph:9600175757 / 8124201000

www.su
ra

bo
ok

s.c
om



9 Sura’s ➠ XII Std - Unit 1 ➠ Applications of Matrices and  determinants

⇒	 y  = 144000

72
 ⇒ y 	 = 2,000

	(1) ⇒ –x + 3(2000) + 500	 =	 5500 

⇒	 – x - 6500	 =	 5500

	 – x	 =	 –5500 – 6500

	 -  x	 =	 - 1000

	 x	 =	 1000 

∴The prices per unit of the three commodities 
are `1000, ` 2000 and ` 500.

8.	 An amount of ` 5,000/- is to be deposited 
in three different bonds bearing 6%, 7% 
and 8% per year respectively. Total annual 
income is `358/-. If the income from first two 
investments is ` 70/- more than the income 
from the third, then find the amount of 
investment in each bond by rank method.

Sol :	Let the amount of investment in each bond be 
`  x, `  y and ` z respectively.

	 Given x + y + z	 =	 5000 � ... (1)

Also 
6

100

7

100

8

100

x y z+ +  = 358

�
 Interest = 

PNR

100
 = 

x × ×1 6

100

 
 = 

6

100

x 

⇒	
6 7 8

100

x y z+ +
	 =	 358

⇒	 6x + 7y + 8z	 =	 35800� ... (2)

Given that 
6

100

7

100

x y+  = 70 + 
8

100

z

⇒	 6 7

100

x y+ 	 =	 7000 8

100

+ z

⇒	 6x + 7y	 =	 700 + 8z
⇒	 6x + 7y – 8z	 =	 7000 � ... (3)
	The matrix equation corresponding to the given 
system is.

	
1 1 1

6 7 8

6 7 8−





























x
y
z

	 =	
5000

35800

7000















	 A 	 X	 =	 B

Augmented matrix 
[A, B]

Elementary 
Transformation

1 1 1 5000

6 7 8 35800

6 7 8 7000−















~ 
1 1 1 5000

0 1 2 5800

0 1 14 23000− −















R2 → R2 – 6R1
R3 → R3 – 6R1

~ 
1 1 1 5000

0 1 2 5800

0 0 16 28800− −













 R3 → R3 – R2

The last equivalent matrix is in echelon form and  
ρ(A) = ρ([A, B]) = 3 = Number of unknowns.
Thus, the given system is consistent with unique 
solution. To find the solution, let us rewrite the 
above echelon form into the matrix form.

1 1 1

0 1 2

0 0 16−





























x
y
z

	 =	

5000

5800

28800−















⇒	 x + y + z	 =	 5000� ... (1)
⇒	 y + 2z	 =	 5800� ... (2)
⇒	 –16z	 =	 –28800� ... (3)
(3)⇒	 –16z	 =	 –28800

⇒	 z	 =	 –
28800

16−
 = 1800

Substituting 	 z	 =	 1800 in (2) we get,
	 y + 2(1800)	 =	 5800
⇒	 y + 3600	 =	 5800
⇒	 y	 =	 5800 – 3600
⇒	 y	 =	 2200
Substituting 	 y	 =	 2200 and z = 1800 in (1) 
we get,
	 x + 2200 + 1800	 =	 5000
⇒	 x + 4000	 =	 5000
⇒	 x	 =	 5000 – 4000
⇒	 x	 =	 1000
Hence, the amount of investment in each bond is  
` 1000, ` 2200 and `1800 respectively.
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EXERCISE 1.3

1.	 The subscription department of a magazine 
sends out a letter to a large mailing list inviting 
subscriptions for the magazine. Some of the 
people receiving this letter already subscribe 
to the magazine while others do not. From 
this mailing list, 45% of those who already 
subscribe will subscribe again while 30% of 
those who do not now subscribe will subscribe. 
On the last letter, it was found that 40% of 
those receiving it ordered a subscription. 
What percent of those receiving the current 
letter can be expected to order a subscription?

Sol :	Transition probability matrix

	 T	 =	

A B

B

A 0 45 0 55

0 30 0 70

. .

. .







Where A represents the percentage of subscribers 
and B represents the percentage of non-
subscribers. By the given data, 40% received the 
order of subscription ⇒ 60% are non-subscribers.
	 A	 =	 40% = 0·40
	 and B	 =	 60% = 0·60

∴ A B

0 40 0 60. .( )  

A B

B

A 0 45 0 55

0 30 0 70

. .

. .







 = 

( . )( . ) ( . )( . ) ( . )( . ) ( . )( . )0 40 0 45 0 60 0 30 0 40 0 55 0 60 0 70+ +( )
= 0 18 0 18 0 22 0 42. . . .+ +( )
= (0·36	 0·64)
⇒ �36 % of those receiving the current letter can 

be expected to order a subscription.
2.	 A new transit system has just gone into 

operation in Chennai. Of those who use the 
transit system this year, 30% will switch 
over to using metro train next year and 70% 
will continue to use the transit system. Of 
those who use metro train this year, 70% 
will continue to use metro train next year 
and 30% will switch over to the transit 
system. Suppose the population of Chennai 
city remains constant and that 60% of the 
commuters use the transit system and 40% 
of the commuters use metro train next year.
(i) �What percent of commuters will be using 

the transit system after the next year?
(ii) �What percent of commuters will be using 

the transit system in the long run?�[HY-2019]

Sol :	Transition probability matrix

	 T	 =	

A B

B

A 0 70 0 30

0 30 0 70

. .

. .







Where A represents the percentage of people 
using transit system and B represents the 
percentage of people using metro train.
By the given data
	 A	 =	 60%	 = 0·60
	 and B	 =	 40% = 0·40

0 60 0 40
0 70 0 30

0 30 0 70
. .

. .

. .
( )





 

	                 = ( . )( . ) ( . )( . ) ( . )( . ) ( . )( . )0 6 0 7 0 4 0 3 0 6 0 3 0 4 0 7+ +( )
	 =	 0 42 0 12 0 18 0 28. . . .+ +( ) =	 0 54 0 46. .( )
∴ A	 =	 54% and B = 46%
(i) �The percent of Commuters using the transit 

system after one year is 54% and the percent 
of commuters using the metro train after the 
next year is 46%

(ii) �Equilibrium will be reached in the long run. 
At equilibrium we must have

	 A B( )  T	 =	 A B( )  
where 	 A + B	 =	 1

⇒	 A B( )





0 7 0 3

0 3 0 7

. .

. .
	 =	 A B( )

⇒ 0 7 0 3 0 3 0 7. . . .A B A B+ +( )  = A B( )
Equaling the entries on both sides, we get
	 0.7A + 0.3B	 =	 A
⇒	·7A + 0.3 (1 – A)	=	 A 
� [ A + B = 1 ⇒ B = 1 – A]
⇒	0.7A + 0.3 – 0.3A	=	 A
⇒	 0.3	 =	 A – 0.7A + 0.3A
⇒	 0.3	 =	 A (1 – 0.7 + 0.3)
⇒	 0.3	 =	 A (0.3 + 0.3)
⇒	 0.3	 =	 A (0.6)

⇒	 A	 =	
0 3

0 6

.

.
 = 

1

2
 = 0·50

∴ The percent of commuters using the transit 
system in the long run is 50%.

3.	 Two types of soaps A and B are in the market. 
Their present market shares are 15% for A and 
85% for B. Of those who bought A the previous 
year, 65% continue to buy it again while 35% 
switch over to B. Of those who bought B the 
previous year, 55% buy it again and 45% 
switch over to A. Find their market shares after 
one year and when is the equilibrium reached?�
� [PTA-2; Govt. MQP & QY- 2019]
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Sol :	Transition probability matrix

	 T	 =	

A B

B

A 0 65 0 35

0 45 0 55

. .

. .







Where A represents the percent of people those 
who bought soap A and B represents the percent 
of people those who bought soap B.
By the given data,
	 A	 =	 15% = 0·15
	 and B	 =	 85% = 0·85
Percentage after one year is

0 15 0 85
0 65 0 35

0 45 0 55
. .

. .

. .
( )





	= (0.15) (0.65) +(0.85)(0.45) 0.15(0.35) + 0.85(0.55))
	= (0.0975 +0.3825   0.0525 + 0.4675) = (0.48   0.52)
Hence, market share after one year is 48% and 
52%
At equilibrium,

	 A B( )  T	 =	 A B( )
	 A B( )





0 65 0 35

0 45 0 55

. .

. .
 	 =	 A B( )

0 65 0 45 0 35 0 55. . . .A B A B+ +( )  = A B( )
Equating the corresponding entries on both sides 
we get,
	 0.65A + 0.45B	 =	 A
⇒	0.65A + 0.45(1–A)=	A 
� [Since A + B = 1 ⇒ B = 1 – A]
⇒	0.65A + 0.45 – 0.45A = A
⇒	 0.45	 =	 A – 0.65A + 0.45A
⇒	 0.45	 =	 A (1 – 0.65 + 0.45)
⇒	 0.45	 =	 A (0.35 + 0.45)
⇒	 0.45	 =	 A (0.8)

⇒	 A	 =	 0 45

0 8

.

.
 = 0.5625 = 56.25%

∴	 B	 =	 1 – A 
		  =	 1 – 0.5625 = 0.4375
		  =	 43.75%
∴ �Equilibrium is reached when A = 56.25% and  

B = 43.75%
4.	 Two products A and B currently share 

the market with shares 50% and 50% 
each respectively. Each week some brand 
switching takes place. Of those who bought A 
the previous week, 60% buy it again whereas 
40% switch over to B. Of those who bought B 

the previous week, 80% buy it again where as 
20% switch over to A. Find their shares after 
one week and after two weeks. If the price war 
continues, when is the equilibrium reached?

� [Sep. - 2020]
Sol :	Transition probability matrix

	 T	 =	

A B

B

A 0 6 0 4

0 2 0 8

. .

. .







By the given data 
	 A	 =	 50% = 0.5
	 B	 =	 50% = 0.5
Shares after one week 

	 0 5 0 5
0 6 0 4

0 2 0 8
. .

. .

. .
( )





= ((0.5)(0.6) + (0.5)(0.2)   0.5 (0.4) + 0.5 (0.8))

= (0.30) + 0.10  0.20 +  0.40) = (0.40  0.60)
∴ Shares after one week for products A and B 
are 40% and 60% respectively.
Shares after two weeks
	 0 4 0 6

0 6 0 4

0 2 0 8
. .

. .

. .
( )





 

= ((0.4)(0.6)+(0.6) (0.2)   (0.4) (0.4) + 0.6 (0.8)
=	 (0.24 + 0.12    0.16 + 0.48) = 0.36   0.64)
∴ Shares after two week for products A and B 
are 36% and 64% respectively. 
At equilibrium, we must have
	 A B( )  T	 =	 A B( )  
where	  A + B	 =	 1

A B( )  
0 6 0 4

0 2 0 8

. .

. .







 =	 A B( )
⇒ 0 6 0 2 0 4 0 8. . . .A B A B+ +( )  = A B( )
Equating the corresponding entries on both sides 
we get,
	 0.6A + 0.2B	 =	 A
⇒	0.6A + 0.2(1 – A)	 =	 A
⇒	0.6A + 0.2 – 0.2A	 =	 A
⇒	 0.2	 =	 A – 0.6A + 0.2A
⇒	 0.2	 =	 A (1 – 0.6 + 0.2)
⇒	 0.2	 =	 A (0.4 + 0.2)
⇒	 0.2	 =	 A (0.6)
⇒	 A	 =	

0 2

0 6

.

.
 = 0.33 

⇒ 	 A	 =	 33% 
and  B = 1 – A = 1 – 0.33 = 0.67 ⇒ B = 67%
∴ �Equilibrium is reached when A = 33% and  

B = 67%
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EXERCISE 1.4

Choose the correct answer

1.	 If A = (1 2 3), then the rank of AAT is
(a) 0 	 (b) 2 	 (c) 3 	 (d) 1
� [Ans: (d) 1]

Hint:	 AAT = 1 2 3( )  

1

2

3













  = (1 + 4 + 9) = 14

∴ Rank of AAT is 1

2.	 The rank of m × n  matrix whose elements are 
unity is
(a) 0 	 (b) 1 	 (c) m 	 (d) n
� [Ans: (b) 1]

Hint:	 A =  

1 1 1 1 1 1
1 1 1 1 1 1

1 1 1 1 1 1 1

− − −
− − −

− − − − − − − − −
− − − − − − − − −





















	� m rows and n columns applying the elemen-
tary transformation.

	 R2 → R2 – R1, R3 → R1 ... Rm → Rm –R1 we get

	 A = 

1 1 1 1

0 0 0 0

0 0 0 0

0 0 0 0 0 0

− − − − − −
− − − − − −
− − − − − −

− − − − − − − − − −
− − − − − −

























	 ∴ Rank is 1

3.	 If T =

A B

B

A 0 4 0 6
0 2 0 8
. .
. .

æ

è
ç

ö

ø
÷ is a transition probability 

matrix, then at equilibrium A is equal to

(a)	
1

4
	 (b)	

1

5
	 (c)	

1

6
	 (d)	

1

8

[Ans: (a) 1
4

]
Hint:	 At equilibrium,

 	 A B( ) ⋅ ⋅
⋅ ⋅







0 4 0 6

0 2 0 8
	=	 A B( )  

		  Where A + B	 =	 1
	 0 4 0 2 0 6 0 8⋅ + ⋅ ⋅ + ⋅( )A B A B  = A B( )
		  0·4A + 0·2B	 =	 A
		  0·4A + 0·2 (1 – A)	 =	 A 

� [since A+B = 1 ⇒ B = 1–A]

0·4A + 0·2 – 0.2A	 =	 A
⇒	 0·2	 =	 A – 0·4A + 0·2A
⇒	 0·2	 =	 A (1 – 0·4 + 0·2)
		  =	 A (0·8)

⇒	 A	 =	
0 2

0 8

⋅
⋅

 = 
1

4

4.	 If A = 
2 0
0 8

æ

è
ç

ö

ø
÷ then ρ (A) is

(a) 0 	 (b) 1	 (c) 2	 (d) n
� [Ans: (c) 2]

Hint:	 		 If A	 =	
2 0

0 8







		  |A|	 =	
2 0

0 8
 = 16 – 0 = 16 ≠  0.

Since the second order determinant does not 
vanish. ρ (A) = 2

5.	 The rank of the matrix 
1 1 1
1 2 3
1 4 9

æ

è

ç
ç
ç

ö

ø

÷
÷
÷

is

(a) 0	 (b) 1	 (c) 2	 (d)3
� [Ans: (d) 3]

Hint:	Let A= 
1 1 1

1 2 3

1 4 9















~
1 1 1

0 2 2

0 3 8

2 2 1

3 3 1

æ

è

ç
ç
ç

ö

ø

÷
÷
÷

® -
® -

R R R

R R R

= 	

1 1 1

0 1 2

0 0 2













  R3 → R3 – 3R2 

Since there are 3 non-zero rows, ρ (A) = 3
∴	 ρ (A)	 =	 3

6.	 The rank of the unit matrix of order n is
(a) n −1 	 (b) n	 (c) n +1	 (d) n2

� [PTA - 3; QY - 2019]
� [Ans: (b) n]

Hint:	 The rank of the unit matrix of order n 
	 [Since the rank of a non-singular matrix of 

order n × n is ‘n’]
7.	 If ρ(A) = r then which of the following is 

correct?� [Sep-2020]
(a)	 all the minors of order r which does not 

vanish.
(b)	� A has at least one minor of order r which 

does not vanish.
(c)	� A has at least one (r + 1) order minor which 

vanishes.
(d)	� all (r + 1) and higher order minors should 

not vanish. 
� [Ans: (b) A has at least one minor of order r 

which does not vanish.]
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13 Sura’s ➠ XII Std - Unit 1 ➠ Applications of Matrices and  determinants

8.	 If A =
1
2
3

æ

è

ç
ç
ç

ö

ø

÷
÷
÷

 then the rank of AAT is

(a) 0	 (b) 1	 (c) 2	 (d) 3
� [Ans: (b) 1]

Hint:			  If A	 =	

1

2

3













  then AT = (1 2 3)

	 AAT= 

1

2

3













  (1 2 3) = 

1 2 3

2 4 6

3 6 9













 ∴ ∼

1 2 3

0 0 0

0 0 0















∴ Rank of AAT is 1

9.	 If the rank of the matrix 
l

l
l

-
-

-

æ

è

ç
ç
ç

ö

ø

÷
÷
÷

1 0
0 1
1 0

 is 2, 

then λ is� [Govt. MQP - 2019]

(a) 1 			   (b) 2
(c) 3			   (d) only real number
� [Ans: (a) 1]

Hint:	 Rank of 
λ

λ
λ

−
−

−















1 0

0 1

1 0

 = 2

Since the rank is 2,

	
λ

λ
λ

−
−

−

1 0

0 1

1 0

	 =	 0

⇒ λ
λ

λ λ
λ−

+
−

−
+

−
1

0
1

0 1

1
0

0

1 0
 = 0

	 λ (λ2) + 1 (0 – 1) + 0	 =	 0
	 λ3 – 1	 =	 0 ⇒ λ3 = 1
	 λ	 =	 1

10.	 The rank of the diagonal matrix

1
2

3
0

0
0

-

æ

è

ç
ç
ç
ç
ç
ç
çç

ö

ø

÷
÷
÷
÷
÷
÷
÷÷

(a) 0	 (b) 2	 (c) 3	 (d) 5
	 � [Ans: (c) 3]
Hint:	 Since there are 3 non-zero rows, rank is 3

11.	 If T = 

A B

B

A 0 7 0 3
0 6

× ×
×

æ

è
ç

ö

ø
÷x

is a transition probability 

matrix, then the value of x is� [PTA-6; QY-2019]
(a) 0.2	 (b) 0.3	 (c) 0.4	 (d) 0.7

	 � [Ans: (c) 0·4]

Hint:	 T = 

A B

B

A 0 7 0 3

0 6

⋅ ⋅
⋅





x

Since this is a transition probability matrix,
	 0·6 + x	 =	 1 ⇒ x = 1 – 0·6 = 0·4

12.	 Which of the following is not an elementary 
transformation?� [March - 2020]
(a)	 Ri↔Rj 			   (b)	 Ri→2Ri+2Cj
(c)	 Ri→2Ri−4Rj		  (d)	 Ci→Ci+5Cj

� [Ans: (b) Ri → 2Ri + 2Cj]
Hint:	 Ri → 2Ri + 2Cj is not an elementary transformation 

since it includes rows and columns.
13.	 If ρ(A) = ρ(A, B) then the system is� [PTA-4]

(a)	 Consistent and has infinitely many solutions
(b)	 Consistent and has a unique solution
(c)	 Consistent 		  (d)	 inconsistent
� [Ans: (c) Consistent]

Hint:	 If ρ(A)=ρ(A, B) then the system can have a 
unique solution or infinitely many solutions.

	 ∴ The system is consistent.
14.	 If ρ(A) = ρ(A, B) = the number of unknowns, 

then the system is
(a)	 Consistent and has infinitely many solutions
(b)	 Consistent and has a unique solution
(c)	 inconsistent		  (d)	 consistent
� [Ans: (b) Consistent and has a unique 

� solution]
Hint:	 If ρ(A)=ρ(A, B) = Number of unknowns then the 

system is consistent and has a unique solution.
15.	 If ρ(A) ≠ ρ(A, B), then the system is

(a) Consistent and has infinitely many solutions
(b) Consistent and has a unique solution
(c) inconsistent 		  (d) consistent
� [Ans: (c) inconsistent]

Hint:	 If ρ(A) ≠ ρ(A, B), then the system is 
inconsistent.

16.	 In a transition probability matrix, all the 
entries are greater than or equal to
(a) 2	 (b) 1	 (c) 0	 (d) 3
� [Ans: (c) 0]

Hint:	 [ 0 < p < 1]
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 Sura’s ➠ XII Std ➠ Business Mathematics and Statistics  14

17.	 If the number of variables in a non- 
homogeneous system AX = B is n, then the 
system possesses a unique solution only when
(a)	 ρ(A) = ρ(A, B) > n 	�  [HY-2019]
(b) ρ(A) = ρ(A, B) = n
(c)	 ρ(A) = ρ(A, B) < n	  (d) none of these
� [Ans: (b) ρ(A) = ρ(A, B) = n]

18.	 The system of equations 4x + 6y = 5, 6x + 9y =  7 
has� [PTA-3; Govt. MQP - 2019]
(a) a unique solution		  (b) no solution
(c) infinitely many solutions	 (d) none of these
� [Ans: (b) no solution]

Hint:	 Given	 4x + 6y	 =	 5
	 6x + 9y	 =	 7

	 [A, B]	 =	
4 6 5

6 9 7







	 ∼
1

6

4

5

4

6 9 7











 	R1 → R1 ¸ 4

	 ∼
1

3

2

5

4

0 0
1

2

−

















	R2 → R2 – 6R1

Here ρ(A) = 1		 and	 ρ(A, B) = 2
Since ρ(A) ≠ ρ(A, B), the system has no solution 

19.	 For the system of equations x + 2y + 3z = 1,  
2x + y + 3z = 2	 5x + 5y + 9z = 4
(a) there is only one solution
(b) there exists infinitely many solutions
(c) there is no solution 	 (d) None of these
� [Ans: (a) there is only one solution.]

Hint:	 Given x + 2y + 3z = 1, 2x + y + 3z = 2,
	 5x + 5y + 9z = 4

[A, B] = 	
1 2 3 1

2 1 3 2

5 5 9 4















		
∼

1 2 3 1

0 3 3 0

0 5 6 1

− −
− − −















 R2 → R2 – 2R1

					      R3 → R3 – 3R1

	 ∼
1 2 3 1

0 1 1 0

0 5 6 1

− −
− − −













  R2 → R2 ¸ 5

	 ∼
1 2 3 1

0 1 1 0

0 0 1 1

− −
− −















 R3 → R3 – 5R2

Here ρ(A) = 3		 and	 ρ(A, B) = 3
∴ ρ(A) = ρ(A, B) = 3 = Number of unknowns.

20.	 If |A| ≠  0, then A is
(a) non- singular matrix 	 (b) singular matrix
(c) zero matrix 		  (d) none of these
� [Ans: (a) non- singular matrix]

21.	 The system of linear equations x + y + z = 2,  
2x + y − z = 3, 3x + 2y + k = 4 has unique 
solution, if k is not equal to� [March -2020]
(a) 4	 (b) 0	 (c) –4	 (d) 1
� [Ans: (b) 0]

Hint:	 Given x + y + z = 2, 2x + y − z = 3,  
3x + 2y + k = 4

[A, B] = 
1 1 1 2

2 1 1 3

3 2 4

1 1 1 2

0 1 3 1

0 1 3 2

2 2-
æ

è

ç
ç
ç

ö

ø

÷
÷
÷

- - -
- - -

æ

è

ç
ç
ç

ö

ø

÷
÷
÷

®

k k
∼

R R --
® -

2R

R R 3R

1

3 3 1

∼
1 1 1 2

0 1 3 1

0 0 1

− − −
−















k
 R3 → R3 – R2

For unique solution ρ(A) = ρ(A, B) = 3
This can happen only when k ≠  0

22.	 Cramer’s rule is applicable only to get an 
unique solution when
(a)	 ∆z ≠  0			   (b)	 ∆x ≠  0
(c)	 ∆ ≠  0			   (d)	 ∆y ≠  0
� [Ans: (c) ∆ ≠ 0]

23.	 If a
x

b
y

1 1+  = c1, 
a
x

b
y

2 2+  = c2, ∆1 = a b
a b

1 1

2 2
; 

	 ∆2 = 
b c
b c

1 1

2 2
; ∆3 = 

c a
c a

1 1

2 2
 then (x, y) is

(a)	 ∆
∆

∆
∆

2

1

3

1

,






		  (b)	
∆
∆

∆
∆

3

1

2

1

,






(c)	 ∆
∆

∆
∆

1

2

1

3

,






		  (d)	 − −





∆
∆

∆
∆

1

2

1

3

,

� [Ans: (d) 
− −ÊÊ

ËËÁÁ
ˆ̂
¯̃̃̄

DD
DD

DD
DD

1

2

1

3

, ]

Hint:	 Given a
x

b
y

1 1+  = c1;  
a
x

b
y

2 2+  = c2

and  ∆1 = 
a b
a b

1 1

2 2

; 	∆2 = 
b c
b c

1 1

2 2

; ∆3 = 
c a
c a

1 1

2 2

⇒	 ∆2	 =	 – 
c b
c b

1 1

2 2

 [∴ C1 ↔ C2]

⇒	 – ∆2	 =	
c b
c b

1 1

2 2
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15 Sura’s ➠ XII Std - Unit 1 ➠ Applications of Matrices and  determinants

	and ∆3 = 
c a
c a

1 1

2 2

	 =	 – 
a c
a c

1 1

2 2

 C1 ↔ C2

∴ 	
1
x

	 =	 −∆
∆

2

1

 and 1
y

 = 
−
+

∆
∆

3

1

⇒	 x	 =	
−∆
∆

1

2

 and y = 
−∆
∆

1

3

24.	 If |An×n| = 3 and |adjA|=243 then the value n is
� [PTA-5; QY-2019]

(a) 4	 (b) 5	 (c) 6	 (d) 7
� [Ans: (c) 6]

Hint:	 Given |An×n| = 3, |adj A| = 243.�
If A is a square matrix of order n, then
	 |adj A|	 =	 |A|n–1

	 243	 =	 3n–1

	 35	 =	 3n–1

	 5	 =	 n–1
	 n	 =	 5 + 1 = 6

25.	 Rank of a null matrix is� [PTA-2]
(a) 0	 (b) –1	 (c) ∞	 (d) 1
� [Ans: (a) 0]

Miscellaneous problems

1.	 Find the rank of the matrix A = 
1 3 4 7
9 1 2 0

-æ

è
ç

ö

ø
÷

Sol :	Given A = 
1 3 4 7

9 1 2 0

−





� [PTA-2]

	∼
1 3 4 0

0 28 34 63

−
− −







 R2 → R2 – 9R1 

∼
1 3 4 0

0 0
10

3
63

−

−













 R2 → R2 + 
28

3
 .R1

The last equivalent matrix is in echelon form and 
there are 2 non-zero rows.
∴	 ρ(A)	 =	 2.

2.	 Find the rank of the matrix A = 

-æ

è

ç
ç
ç

ö

ø

÷
÷
÷

2 1 3 4
0 1 1 2
1 3 4 7

Sol :	Given A=
−













2 1 3 4

0 1 1 2

1 3 4 7

∼
1 3 4 7

0 1 1 2

2 1 3 4−















 R1 ↔ 
R3

	∼
1 3 4 7

0 1 1 2

0 7 11 18















 R2 → R2 + 2R1 

	∼
1 3 4 7

0 1 1 2

0 0 4 4















 R3 → R3 – 7R2 

The last equivalent matrix is in echelon form and 
there are 3 non - zero rows.
∴	 ρ(A)	 =	 3.

3.	 Find the rank of the matrix A = 
4 5 2 2
3 2 1 6
4 4 8 0

æ

è

ç
ç
ç

ö

ø

÷
÷
÷

Sol :		 Given A	=	
4 5 2 2

3 2 1 6

4 4 8 0















			   ~	
4 5 2 2

3 2 1 6

1 1 2 0















 R3 → R3 ̧  4

			  ~	
1 1 2 0

3 2 1 6

4 5 2 2















 R1 ↔ R3

		
	~

	 1 1 2 0

0 1 5 6

0 1 6 2

− −
−















R2 → R2 – 3R1
					     R3 → R3 – 4R1

			  ~	
1 1 2 0

0 1 5 6

0 0 11 8

− −
−















R3 → R3+R2 

The last equivalent matrix is in echelon form and 
there are 3 non-zero rows.
	 ∴ ρ(A) =	 3.

4.	 Examine the consistency of the system of 
equations:
x + y + z = 7, x + 2y + 3z = 18, y + 2z = 6 .

Sol :	Given non homogeneous equations are  
x + y + z = 7, x + 2y + 3z = 18, y + 2z = 6.

Augmented matrix 
[A, B]

Elementary 
Transformation

1 1 1 7

1 2 3 18

0 1 2 6















~ 
1 1 1 7

0 1 2 11

0 1 2 6













 R2 → R2 – R1

~ 
1 1 1 7

0 1 2 11

0 0 0 5−













 R3 → R3 – R2

Here ρ(A) = 2	 and	 ρ(A, B) = 3
Since ρ(A) ≠  ρ(A, B), the given system is 
inconsistent and has no solution.
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5.	 Find k if the equations 2x + 3y − z = 5,  
3x − y + 4z = 2, x + 7y − 6z = k are consistent.

Sol :	Given non-homogeneous equations are
2x + 3y − z = 5, 3x − y + 4z = 2, x + 7y − 6z = k

Augmented matrix 
[A, B]

Elementary 
Transformation

2 3 1 5

3 1 4 2

1 7 6

−
−

−















k

~ 

1 7 6

3 1 4 2

2 3 1 5

−
−

−















k

R1 ↔ R3

~ 

1 7 6

0 22 22 2 3

0 11 11 5 2

−
− −
− −















k
k
k

R2 → R2 – 3R1
R3 → R3 – 2R1

~
1 7 6

0 22 22 2 3

0 0 0 2 5 2 2 3

−
− −

− − −















k
k

k k( ) ( )

R3 → 2R3 – R2

~ 
1 7 6

0 22 22 2 3

0 0 0 10 4 2 3

−
− −

− − +















k
k

k k

~ 
1 7 6

0 22 22 2 3

0 0 0 8

−
− −

−















k
k
k

Here ρ(A) = 2 
Since the given system is consistent, ρ(A, B) 
must be equal to 2.
This can happen only when 8 – k = 0 ⇒ k = 8

6.	 Find k if the equations x + y + z = 1,  
3x−y−z =4, x  + 5y + 5z = k are inconsistent.

Sol :	x + y + z = 1, 3x − y − z = 4, x + 5y + 5z = k
Augmented matrix 

[A, B]
Elementary 

Transformation

1 1 1 1

3 1 1 4

1 5 5

− −














k

~ 

1 1 1 1

0 4 4 1

0 4 4 1

− −
−















k

R2 → R2 – 3R1
R3 → R3 – R1

~ 

1 1 1 1

0 4 4 1

0 0 0

− −














k
R3 → R3 + R2

	Here clearly ρ(A)	 =	 2.
Since the given system is inconsistent, �  
ρ(A) ≠  ρ(A, B)
This can happen only when k ≠  0.

7.	 The subscription department of a magazine 
sends out a letter to a large mailing list 
inviting subscriptions for the magazine. Some 
of the people receiving this letter already 
subscribe to the magazine while others do 
not. From this mailing list, 60% of those who 
already subscribe will subscribe again while 
25% of those who do not now subscribe will 
subscribe. On the last letter it was found 
that 40% of those receiving it ordered a 
subscription. What percent of those receiving 
the current letter can be expected to order a 
subscription?

Sol :	Let A represents the percent of people who 
subscribe the magazine and B represents the 
percent of people who do not subscribe the 
magazine.
Given 60% of people subscribe again implies 
40% of people do not subscribe. And 25% of 
people are going to subscribe implies 75% of 
people are not going to subscribe.
∴ Transition probability matrix

	 T	 =	

A B

B

A 0 6 0 4

0 25 0 75

. .

. .

æ

è
ç

ö

ø
÷

Also, it is given that 40 % of those received the 
order of subscription implies 60% are not going 
to receive the order.

∴ 0 4 0 6
0 6 0 4

0 25 0 75
. .

. .

. .
( )





	= ( . )( . ) ( . )( . ) ( . )( . ) ( . )( . )0 4 0 6 0 6 0 25 0 4 0 4 0 6 0 75+ +( )
= 0 24 0 15 0 16 0 45. . . .+ +( )  = 0 39 0 61. .( )
∴ 39% of people who received the current letter 
can be expected to order a subscription.

PTA  Questions & Answers

1 Mark

1.	 If O(A) = 3 × 3 and ρ(A) = 2 then ρ(adjA) 
is_______.� [PTA-1]

	 (a)	 1	 (b)	 2	 (c)	 3	 (d)	 0
� [Ans: (a) 1]
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17 Sura’s ➠ XII Std - Unit 1 ➠ Applications of Matrices and  determinants

2.	 If A is matrix [A,B] is the augmented matrix 
then which of the following is true?� [PTA-2]

	 (a)	 ρ([A,B]) = ρ(A)	
	 (b)	 ρ([A,B]) ≥ ρ(A)
	 (c)	 ρ([A,B]) = ρ(A)>n
	 (d)	 ρ([A,B]) < ρ(A)�

[Ans: (b) ρ([A,B]) ≥ ρ(A)]

3.	 If A = 
1

2

3


















then the rank of AAT is :� [PTA-4]

	 � [HY-2019]

	 (a)	 1	 (b)	 2	 (c)	 3	 (d)	 0
� [Ans: (a) 1]

4.	 If A is matrix of order 4 and |A| = –2 then the 
value of |adj (A)| is _____� [PTA-6]

	 (a)	 –4	 (b)	 4	 (c)	 –8	 (d)	 8
� [Ans: (c) – 8]
	 Hint: |adj A| = |A|n–1 = (–2)4–1 = (–2)3 = –8

2 Marks

1.	 If A = 
x x x
4 2 1
2 3 4

−
















 find x if ρ(A) = 3� [PTA - 3]

Sol :	
x x x
4 2 1

2 3 4

−


















	 =	 x [–8 –3]– x [16–2]+ x [12+4]

		  =	 – 11x – 14 x + 16x
		  =	 – 9x – 9x ≠ 0
	                  x	 ≠ 	 0

2.	 Find the rank of the matrix 
2 4
4 8 2
5 7 1

−
−

















x
x  

� [PTA - 4]

Sol :	
2 4

4 8 2

5 7 1
2

1 2
2

4 8 2

5 7 1

1

1

-
-

é

ë

ê
ê
ê

ù

û

ú
ú
ú

®

-

-

é

ë

ê
ê
ê
ê

x
x

x

xR
R

� ����������

ùù

û

ú
ú
ú
ú

�

	�
R R R

R R R

2 2

3 3 1

4 1

5

1 2
2

0 0 0

0 17
2 5

2

® -
® -

-

-

é

ë

ê
ê
ê
ê� �����������������

x

x
êê

ù

û

ú
ú
ú
ú
ú

	 Rank 2  ρ(A) = 2

3.	 Parithi is either Sad (S) or happy (H) each 
day. If he is happy in one day, he is sad on the 
next day by four times out of five. If he is sad 
on one day, he his happy on the next day  by 
two times out of three. Over a long run, what 
are the chances that Parithi is happy on any 
given day?� [PTA - 5; QY - 2019]

Sol :	The transition probability matrix is T = 

4

5

1

5

2

3

1

3













	At equilibrium, (S H) 

4

5

1

5

2

3

1

3













= (S H)
	 where S + H = 1

	
4

5

2

3
S H+  = S ⇒ 4

5

2

3
1S S+ −( )= S

	 On solving this, we get

		  S	 =	 10

13
and H = 

3

13

	� In the long run, on a randomly selected day, his 

chances of being happy is 10

13
. 

4.	 Find the rank of the matrix 

2 3 4
1 2 1

1 2 2
−

−

















� [PTA - 5]

Sol :	
2 3 4

1 2 1

1 2 2

−
−


















 = 2[–4 –2]–3[2–1]+4[–2 –2]

	 = 2 [–6]–3 [1] + 4[–4] = –12 –3 – 16 = –31

	 ∴ρ(A) = 3

5.	 Six men and five women can jointly finish of 
work in 12 days, whereas five men and seven 
women can jointly finish the same work in 
10 days, represent data as a system of linear 
equations.� [PTA - 6]

Sol :	One man finish work in x days
	 One woman finish work in y days.

	 Work done by one man in one day 1
x

	 Work done by one woman in one day 1
y

		  6 5

x y
+ 	 =	 1

12

	 ⇒	 5 7

x y
+ 	 =	 1

10
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 Sura’s ➠ XII Std ➠ Business Mathematics and Statistics  18

3 Marks
1.	 Consider the matrix of transition probabilities 

of a product available in the market in two 

brands A and B. 
A B

A
B

0 9 0 1
0 3 0 7

. .

. .






 �  

Determine the market share of each brand in 
equilibrium position.� [PTA - 1]

Sol :	Transition probability matrix

	 T	 =	

A B

A

B

0 9 0 1

0 3 0 7

. .

. .











At equilibrium, (A B) T=(AB) where A+B=1

A B( )










0 9 0 1

0 3 0 7

. .

. .
	 =	 A B( )

	 0.9A+ 0.3B	 =	 A
	 0.9A+0.3(1−A)	 =	 A
	 0.9A−0.3A+0.3	 =	 A
	 0.6A + 0.3	 =	 A
	 0.4A	 =	 0.3

	 A	 =	 0 3

0 4

3

4

.

.
=

	 B	 =	 1– 3

4

1

4
=

Hence the market share of brand A is 75% and 
the market share of brand B is 25%

5 Marks
1.	 Solve by using rank method x + y + 2z = 4,  

2x + 2y + 4z = 8, 3x + 3y + 6z = 12� [PTA - 3]
Sol :	The matrix equation corresponding to the given 

system is
1 1 2

2 2 4

3 3 6

























x
y
z

 = 
4

8

12













[A  B] = 
1 1 2 4

2 2 4 8

3 3 6 12


















 
R2 → R2 – 2R1

R3 → R3 – 3R1

1 1 2 4

0 0 0 0

0 0 0 0



















	 Back substituting we get
	 x + y + 2z = 4
	 x = 4 – y – 2z, where y and z are arbitrary

2.	 Investigate for what values of ‘a’ and ‘b’ the 
following system of equations
x + y + z = 6, x + 2y + 3z = 10, x + 2y + az = b 
have
(i) no solution (ii) a unique solution  
(iii) an infinite number of solutions.
� [PTA-3, March - 2020]

Sol :	The matrix equation corresponding to the given 
system is

	

1 1 1

1 2 3

1 2 a

x
y
z
























 = 

6

10

b












	        A          X  =    B

Augmented matrix  
[A, B]

Elementary 
Transformation

1 1 1 6

1 2 3 10

1 2 a b















1 1 1 6

0 1 2 4

0 1 1 6a b− −















1 1 1 6

0 1 2 4

0 0 3 10a b− −













R2→R2 – R1

R3→R3 – R1

R3→R3 – R2

	 Case (i) For no solution:

	 The system possesses no solution only when 
ρ(A)≠ρ([A,B]) which is possible only when 
a−3=0 and b−10 ≠ 0

	 Hence for a =3, b ≠ 10, the system possesses no 
solution.

	 Case (ii) For a unique solution:
	 The system possesses a unique solution only 

when ρ(A) = ρ([A,B]) = number of unknowns.
	 i.e when ρ(A) = ρ([A,B]) = 3
	 Which is possible only when a−30 and b may be 

any real number as we can observe .
	 Hence for a ≠ 3 and b∈R, the system possesses 

a unique solution.
	 Case (iii) For an infinite number of solutions:
	 The system possesses an infinite number of 

solutions only when
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19 Sura’s ➠ XII Std - Unit 1 ➠ Applications of Matrices and  determinants

	 ρ(A) = ρ([A,B])< number of unknowns
	 i,e when ρ(A) = ρ([A,B])=2<3 ( number of 

unknowns) which is possible only
	 when a−3=0, b−10=0
	 Hence for a = 3, b =10, the system possesses 

infinite number of solutions.

3.	 Metro rail transit system has just gone into 
operation in a city. Of those who use the 
transit system this year 15% will switch 
over to using their own car next year and 
85% will continue to use the transit system. 
Of those who use their cars this year, 70% 
will continue to use their cars next year and 
30% will switch over to the transit system. 
Suppose the population of the city remains 
constant and that 60% of the commuters use 
the transit system and 40% of the commuters 
use their own car this year,

	 (i)	� What will be the change in commuter's 
usage after one year.�

	 (ii)	� What percent of commuters will be using 
the Metro train system in the long run?

Sol :	Transition probability matrix� [PTA - 4]

	 T = 

A B

A

B

. .

. .

85 15

30 70











	 Where A represent the percentage of people 
using metro rail transit system and B represents 
the percentage of people using car.

	 A = 60% = 0.60 and B = 40% = 0.40

	 0 60 0 40
0 85 0 15

0 30 0 70
. .

. .

. .
( )











	 = [(0.6)(0.85) + (0.4)(0.3) (0.6)(0.15) + (0.4)(0.7)]
	 = (0.63      0.37)
	 A = 63%       B = 37%

	 (i)	� The percentage of commuters using the 
metro rail system after one year is 63% 
and the percent of commuters using the car 
after one year is 37%

	 (ii)	� Equilibrium will be reached in the long 
run. At equilibrium we must have

			   (A   B)T	 =	(A   B)

	 Where  	 A + B	 =	1

	 ⇒ A B( )










0 85 0 15

0 30 0 70

. .

. .
 = (A    B)

	 (0.85A + 0.30 B 0.15A + 0.70B) = (A    B)
	 0.85A + 0.30B	 =	A
	 0.85A + (0.3)(1 – A)	 =	A
	 0.85A + 0.3 – 0.3A	 =	A
			   0.3	 =	A + 0.3A –0.85 A
			   0.3	 =	A(1 + .3 – 0.85)
			   0.3	 =	A (0.45)

			   A	 =	 .

.

3

45

30

45

2

3
= =

	 The percent of commuters using the transit 

system in the long run is 66
2

3
%

4.	 Find x, y, z for the following system of 
equations � [PTA-5]

	

2 3 4 14 3 2 1 3 1 1 1 5
x y z x y z x y z

+ + = − + = + + =,

Sol :	Put 1 1 1

x
a
y

b
z

c= = =, ,

	   2a + 3b + 4c	 =	 14 � ...(1)

	      3a – 2b + c	=	 3� ...(2)

		  a + b + c	=	 5� ...(3)

	 Matrix form of the system

	
2 3 4

3 2 1

1 1 1

−





































a
b
c

 = 
14

3

5



















	 Augmented matrix

	

2 3 4 14

3 2 1 3

1 1 1 5

−



















R R
1 3

2 3 4 14

3 2 1 3

1 1 1 5

→ −



















� ��������

	
R R R

R R R

2 2 1

3 3 1

2

3

1 1 1 5

0 1 2 4

0 5 2 12

→ −

→ −
− − −












� ���������������






	 R R R
3 3 2

5

0 1 1 5

0 1 2 4

0 0 8 8

→ +



















� ���������������
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 Sura’s ➠ XII Std ➠ Business Mathematics and Statistics  20

	 Equivalent system
		  8c	 =	 8 
	 ⇒ 	 c	 =	 1
		  b + 2c	 =	 4 
	 ⇒ 	 b	 =	 4–2 = 2
		  a + b + c	 =	 5 
	 ⇒ 	 a	 =	 5 – 2– 1 = 2

		  1
x

	 =	 2 

	 ⇒ 	 x	 =	 1

2

		  1
y

	 =	 2 	 ⇒ y = 1

2

		  1
z

	 =	 1 
	 ⇒ 	 z	 =	 1

5.	 80% of students who do maths work during 
one study period, will do the maths work at 
the next study period. 30% of students who 
do english work during one study period, 
will do the english work at the next study 
period. Initially there were 60 students do 
maths work and 40 students do english work. 
Calculate,

	 (i) The transition probability matrix� [PTA-6]
	 (ii) �The number of students who do 

maths work, english work for the next 
subsequent 2 study periods.

Sol :	(i)	 Transition probability matrix

	 T = 

M E

M

E

0 8 0 2

0 7 0 3

. .

. .











	 After one study period,

	

M E M E

M

E
60 40

0 8 0 2

0 7 0 3
( )











. .

. .

 = 
  M E

76 24( )

	 So in the very next study period, there will be 76 
students do maths work and

	 24 students do the English work.
	 After two study periods,

	
  M E

76 24( )  

M E

M

E

0 8 0 2

0 7 0 3

. .

. .










 = (60.8 + 16.8   15.2+7.2)

	 = 77.6    22.4
	 After two study periods there will be 78 (approx) 

students do maths work and 22 (approx) students 
do English work.

Govt. Exam Questions & Answers

1 Mark
1.	 The system of equations 2x – y =1, 3x + 2y =12 

has� [QY-2019]
(a)	 a unique solution
(b)	 no solution
(c)	 infinitely many solution
(d)	 none of these� [Ans. (a) a unique solution]

2.	 If |A| = 13 and |Adj A| = 
4
5 7

x
, then the value 

of x is  :� [March - 2020]

	 (a)	 3	 (b)	 4	 (c)	 2	 (d)	 –5
� [Ans. (a) 3]

Hint: 	 [ |Adj A|	 =	 |A|n–1 order n × n 

		  ∴ |A|2 – 1	 =	
4

5 7

x

		  |A|	 =	 28 – 5x
		  5x	 =	 28 – 13 = 15
		  5x	 =	 15

		  x	 =	 15

5
 = 3

3.	 The system has a unique solution when two 
lines :� [Sep.-2020]

	 (a)	 L1 and L2 intersect exactly at one point
	 (b)	 L1 and L2 coincides
	 (c)	 L1 and L2 are parallel and distinct
	 (d)	 Both (a) and (b)�[Ans. (d) Both (a) and (b)]

2 Marks

1.	 If the rank of the matrix 

2 3 4 5
3 4 5 6
4 5 6
9 10 11 12

K

é

ë

ê
ê
ê
ê

ù

û

ú
ú
ú
ú

 is 2. 

Find the value of ‘K’ � [HY - 2019]

Sol :	
2 3 5

3 4 6

4 5 k
 = 0 ⇒ k = 7�

2.	 Find the rank of the matrix A = 
0 1 2 1

1 2 3 2

3 1 1 3

� [Sep. - 2020]

Sol :	The order of A is 3 × 4
	 ∴ ρ(A) ≤ 3
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21 Sura’s ➠ XII Std - Unit 1 ➠ Applications of Matrices and  determinants

	Let us transform the matrix A to an echelon form.

Matrix A Elementary 
Transformation

A = 
0 1 2 1

1 2 3 2

3 1 1 3

æ

è

ç
ç
ç

ö

ø

÷
÷
÷

A ~ 
1 2 3 2

0 1 2 1

3 1 1 3

æ

è

ç
ç
ç

ö

ø

÷
÷
÷

R1 ↔ R2

~ 
1 2 3 2

0 1 2 1

0 5 8 3- - -

æ

è

ç
ç
ç

ö

ø

÷
÷
÷

R3 → R3 – 3R1

~
1 2 3 2

0 1 2 1

0 0 2 2

æ

è

ç
ç
ç

ö

ø

÷
÷
÷

R3 → R3 – 5R2

The number of non zero rows is 3. ∴ ρ(A) = 3.

3 Marks

1.	 Find the rank of the matrix  

A = 

1 2 4 5
2 1 3 6
8 1 9 7

−
−













 � [Govt. MQP - 2019]

Sol :	The order of A is 3 × 4
	 ∴ ρ(A	 ≤	 min (3, 4)
	 ρ(A)	 ≤	 3
Consider the third order minor,
1 2 4

2 1 3

8 1 9

−
−  = 1

1 3

1 9
2

2 3

8 9
4

2 1

8 1

−
− −

−

= 1(– 9 – 3) – 2(18 – 24) – 4(2 + 8)
= 1 (–12) – 2 (– 6) – 4 (10)
= – 12 + 12 – 40 = – 40 ≠  0.
There is a minor of order 3, which is not zero
\	 ρ(A)	 =	 3.

2.	 Show that the equations x + y = 5, 2x + y = 8 
are consistent and solve them.� [QY - 2019]

Sol :	�The matrix equation corresponding to the given 
system is

	
1 1

2 1


















x
y

 = 5

8










Matrix A Augment 
matrix [A, B]

Elementary 
Transformation

 

1 1

2 1

1 1

0 1











−











1 1 5

2 1 8

1 1 5

1 1 2











− −











R2 → R2 – 2R1

r (A) = 2 r([A,B]) = 2
	 Number of non-zero rows is 2.
	 r(A) = r([A,B]) = 2 = Number of unknowns.
	� The given system is consistent and has unique 

solution.
	 Now, the given system is transformed into

		
1 1

0 1−


















x
y

	 =	
5

2−










		  x + y	 =	 5
		  y	 =	 2
		  ∴(1) x + 2	 =	 5
		  x	 =	 3
		  Solution is x = 3, y	 =	 2

3.	 Show that the equations x – 4y + 7z = 14,  
3x + 8y –2z = 13, 7x – 8y + 26z = 5 are 
inconsistent.� [HY - 2019]

Sol :	[A, B] = 
1 4 7 14

3 8 2 13

7 8 26 5

1 4 7 14

0 20 23 29

0 0 0 64

−
−

−


















=

−
− −



















	  
1 4 7 14

3 8 2 13

7 8 26 5

1 4 7 14

0 20 23 29

0 0 0 64

−
−

−


















=

−
− −


















 
R2 → R2 – 3R1

R3 → R3 – 7R1

R3 → R3 – R2
	 → r(A) = 2, r(A, B) = 3 
	 ⇒ r(A) ≠ r(A, B)
	 The system is inconsistent and had no solution.
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4.	 If A =
1 1 1
2 3 4
3 2 3

-
-
-

æ

è

ç
ç
ç

ö

ø

÷
÷
÷

and BT =
1 1 1
2 3 4
3 2 3

-
-
-

æ

è

ç
ç
ç

ö

ø

÷
÷
÷

, 

then find the rank of AB.� [March - 2020]

Sol :	A = 
1 1 1

2 3 4

3 2 3

−
−
−












 and B = 

1 2 3

2 4 6

5 1 1

−
− −

−













	AB = 
1 1 1

2 3 4

3 2 3

−
−
−












 

1 2 3

2 4 6

5 1 1

−
− −

−













		 = 
1 2 5 2 4 1 3 6 1

2 6 20 4 12 4 6 18 4

3 4 15 6 8 3 9 12 3

− − − + − − +
+ + − − + + −
+ + − − + + −













	 = 
− −

−
−













6 1 2

28 12 20

22 11 18

 = 
− −

−
−













6 1 2

28 12 20

22 11 18

Matrix (AB) Elementary 
Transformation

AB = 
− −

−
−













6 1 2

28 12 20

22 11 18

~ 
1 6 2

12 28 20

11 22 18

− −
−
−












C1 ↔ C2

~ 
1 6 2

0 44 4

11 22 18

− −
− −

−












R2 → R2 + 12R1

Matrix (AB) Elementary 
Transformation

~ 
1 6 2

0 44 4

0 44 4

− −
− −
− −












R3 → R3 + 11R1

~ 
1 6 2

0 44 4

0 0 0

− −
− −












R3 → R3 – R2

	The matrix is in echelon form and the number of 
non-zero rows is 2.
	 ∴ ρ(AB)	 =	 2.


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